LINE FILTER

3.5 MPa

1. Maximum operating pressure: 3.5 MPa
Impulse test: 0 to 3.5 MPa x 107 times Quick delivery of filters in ] with mineral oil use.
2. Easy to replace elements for upward removal. > M d | C d Please contact us on delivery time for others.
3. Elements are common to all “U” Series (UL,UM,UH). ode oge
4. Piping method is common to the thread type and flange type.
Companion flange is available in additional option. . Filtration . Flow
5. Flow direction can be changed by turning Cover-ASSY 180 Fluid Type uL Rating Option Direction
degrees. |
6. Please contact us for use of fluids other than mineral oil on | | |
packing, O-rings and other parts.
Code Fluid Code| Inner Dia. Code | Filtration | Media Code | Filtration | Media Relief Valve Code |Flow Direction
Blank Mineral oil 03A | Re3g (10A) >< 3C | 3microns . 50UW| 50 microns v With Blank |Left—right
Max. differential Option F | Phosphate ester-based oil | | 04A | Rclip (15A) § 285% 8 microns| G fiber ?gngv ng "‘95: Wire K_| None L [Right—left
y - 25 microns| mes|
pressure of element | Indicator pressure (All red) | Relief valve opening pressure G Water glycol-based oil 06A | Rc3) (20A) %[ 10U | 10 microns 100W | 100 mesh 1SUS) Code | Maanat
0.7MPa 0.3MPa 0.35MPa ?g: 2°1 - /(2&(-,;2 5 : igﬂ 20 microns| Paper 5%1‘?{( 80 mesh Blank| Nare
c1lg 40 microns 50 microns -
M Part List 12A | Rct1yp (40A) 5UW | 5 microns; 200K | 200 mesh Code | Indicator |Model M With
22 O-ring NBR 1 [JISB 2401. 1A 16A | Rez2 (50A) TO0UW] 10 microns (Wire) 150K | 160 mesn| Nt | [Bjank[Blind plug | — |
X 20UW| 20 microns| (SUS 100K | 100 mesh | Visual | IA-3 Code | Companion Flange
21 O-ring NBR 1 JISB 2401. 1A . 20B | Rc2'k (65A) - - L
20 O-ring NBR 1_|JISB2401. 1A G-155 goﬂrg E:aTFL)JIeIVN 248 | Rc3 (80A) ;ouvg/ e 60(:( - Gatmes,h — i B e
- —_ —_ —_ —_ X 3K :ﬁ3_200 01 10 De used with water glycol-based Oll. D . 1| EA-3D
19 Indicator 1 08 0 8C: 38 =200 7,'3{ Filter media used for water glycol-based fmercapasy)
18 Cap bolt SCM435 8 Option 25C : B5=200 oil differs from that for mineral oil.
17 | Companion flange | $S400 2 > Spares
16 O-ring NBR 2 JJISB 2401. 1A
15 O-ring 7 1 7 1A
14 O-ring B 1 . 1B B Element
13 O-ring 7 1 7 1A . Inner — )
12 O-ring ” 1 ” 1A P Fluid Type UL Filtration Rating
i Ul Q-ring ‘ ! z___1A Coding example :  P-G-UL-08A-10U
petal et 10 O-ring NBR 1| JISB2401. 1A g P
- L-03A~12A with washer
Mount 03A 4 4 Center of piping 9 Cap bolt SCM435 4 ] .
UL{ggﬁ ) % &, 8 | Ga/8drainplug | SCM435 | 1 | UL-16A~24B:G'/2 B Sealing parts set
o + P 0BA /2-d2x iTa 7 | Spring holder | $8400 1 @ For element replacement (Part No. with © in “Element and O-ring” .)
a1 (CD f : W 6 Spring SWPA 1 Option —
i L 10A i — i .
= 4_@ ne @_¥ -+ UL{igﬁ GD GD ] Center of piping i R(:::;Vear:\t/e SECC 1 SP Fluid Type UL
O H -
A T 5% g) o 3 nlet ADCi2 | 1 Coding example :  SP-G-UL-08A
4-d2x (Ta 2 Cover ADC12 1 UL-16A~24B: FCD500
¢ ]
wy (22) (21) (14)15Y19 @ 0@ 1 Body ADC12 1 UL-16A~24B: FCD500
g 2 @ ,@ ‘;, PartNo.| Part Name Material Qty Remarks @ For overhaul
H rt"‘ 3 ; Inner .
5| (3 57 ry B Element and O-ring SA Fluid Type UL Option
5 [ ~ B . .
HIC il JfJ i f? ﬂx o0 (%11 [%12 713 [ 14 |15 | 16 | 21 | 22 [-Element Coding example :  SA-G-UL-08A-N
= i a1 R A Model hi [ o
i =[] LI L-03A Code | Companion Flange
V)
n | xdo T /A-daxl Bolt Ton G-30 G-30 85.3 | 622
5 i . - oosa| &7 pP-32 ora G-40 Blank| None
=z -4 - -4 : :
Dy d (20) @ e G-40 G-40 155.3| 62.2 N With
) (7) = - UL-10A P-18|P-14
( %O ) ——1G-100|G-55 | G-45 G55 5| 82
" #0-ring of UL-16A/20B/24B cover UL-12A G-25|G-45 2045| 822 > FIOW Rate Chart
: - UL-16A|G-110 | G-65 | G-60 P18 G-70 2545|102.2
o N ( 3::-22: 6135 G-05| G-80 6100/6-30]G-55|304.5| 124 @ISO VG32 @ Viscosity: 32 cSt (40C)
) R PfaLr}Lofzgcg/ezvzigg lower case into body C t M d | UI_ UM d UH
ot UL~ . L ommon 1o Ivioaels UL, an
Notes: - ID“03” to “12” have O-ring groove on the body sk Hs height of indicator: Model | ...36, Model E ... 91
: g am s g : - - : (Except for UH-20 and UH-24)
- ID“16” to “24” have O-ring groove on the companion flange. Add this height to the element allowance E.
¥ Dimensions and Standard Flow Rates Filtration Rating 10 Microns (10U) Filtration Rating 10 Microns (10U)
Symbol [Element Companion Flange (Option) Mass | Standard Flow Rate 0-15 03, 0.15 i 72 76
Model d HHi[He|AB|C|DW]alb | X0 W T Trp[F[J] K| dxL [ke)| (2/min) 04 / yd
UL-03A | Ro% 17.8 25 + a
UL-04A Roll 189 | 50 | 139 115| 96 | 54 | 83 | 45 M8X14 |190 292 8 |15 |42 |24 | 60 | 50 | M8X30 | 2.5 2 E o // i E o /,/ T
UL-06A | Rc¥ 277 = / 7 B / F
4 __1270| 55 | 215|120 | 96 | 55 | 83 | 45 M10X16 280 —— 9 | 18 | 50 | 36 | 68 | 62 | M8X35 | 3.0 85 o % A 51 o D4 =
UL-08A Rc1 34.5 100 <] / L > [ LA
UL-10A | Roily 432 155 o A P o A ot éa”?z
351 | 69 (282|150 | 124 | 65 | 106 | 60 | 20 | 25 [M10X15|360——— 10 | 21 | 64 | 46 | 84 | 76 |M10X40 | 5.5 5 0.05 /’ > = 5 0.05 A =
UL12A | Rollp 49.1 180 2 A poieste 2 = SR
UL-16A Rc2 433| 75 | 358|180 | 150 | 77 [ 132 | 64 | 20 | 30 [M10X15 (430 [61.1| 11 [ 24 | 76 | 52 | 100 | 94 | M12X45|215 360 E 7 A AT 2 d A i ]
" 1 - ==au = [
UL-20B | Re2lo | 5o gg | 432 | 215|176 | 95 |1652] 90 | 25 | 40 |M12x20 [530 2 15 | 31 | 102 80 | 134 126 | M16X60 |37.0 600 WZ2=="5n Np==C== | [TT17
UL-24B Rc3 90.0 660 0 20 40 60 80 100 120 140 0 100 200 300 400 500 600 700 800 900 1000
%Mass(kg) does not include companion flange. Flow Rate (2/min) Flow Rate (0/min)

23 24





